
MCQ WORKSHEET-I  
CIRCLES 

1. Find the length of tangent drawn to a circle with radius 7 cm from a point 25 cm away from the
centre.

(a) 24 cm (b) 27 cm (c) 26 cm (d) 25 cm

2. A point P is 26 cm away from the centre of a circle and the length of the tangent drawn from P to
the circle is 24 cm. Find the radius of the circle.

(a) 11 cm (b) 10 cm (c) 16 cm (d) 15 cm

3. From an external point P, tangents PA and PB are drawn to a circle with centre O. If CD is the
tangent to the circle at a point E and PA = 14 cm, find the perimeter of the PCD.

(a) 28 cm (b) 27 cm (c) 26 cm (d) 25 cm
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4. In the above sided figure, PA and PB are tangents such that PA = 9cm and APB = 600. Find the
length of the chord AB.

(a) 4 cm (b) 7 cm (c) 6 cm (d) 9 cm

5. In the below figure the circle touches all the sides  of a quadrilateral ABCD whose three sides are
AB = 6 cm, BC = 7 cm, CD = 4 cm. Find AD.

(a) 4 cm (b) 3 cm (c) 6 cm (d) 9 cm

6. In the above sided Fig., if TP and TQ are the two tangents to a circle with centre O so that
POQ = 110°, then PTQ is equal to

(a) 600 (b) 700 (c) 800 (d) 900

7. If tangents PA and PB from a point P to a circle with centre O are inclined to each other at angle
of 80°, then POA is equal to

(a) 600 (b) 700 (c) 800 (d) 500
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8. The length of a tangent from a point A at distance 5 cm from the centre of the circle is 4 cm.
Find the radius of the circle.

(a) 4 cm (b) 3 cm (c) 6 cm (d) 5 cm

9. From a point P, 10 cm away from the centre of a circle, a tangent PT of length 8 cm is drawn.
Find the radius of the circle.

(a) 4 cm (b) 7 cm (c) 6 cm (d) 5 cm

10. PT is tangent to a circle with centre O, OT = 56 cm, TP = 90 cm, find OP
(a) 104 cm (b) 107 cm (c) 106 cm (d) 105 cm

11. TP and TQ are the two tangents to a circle with center O so that angle POQ = 1300. Find
PTQ.

(a) 500 (b) 700 (c) 800 (d) none of these

12. From a point Q, the length of the tangent to a circle is 40 cm and the distance of Q from the
centre is 41 cm. Find the radius of the circle.

(a) 4 cm (b) 3 cm (c) 6 cm (d) 9 cm

13. The common point of a tangent to a circle with the circle is called _________
(a) centre (b) point of contact (c) end point (d) none of these.

14. PQ is a chord of length 8 cm of a circle of radius 5 cm. The tangents at P and Q intersect at a
point T (see below figure). Find the length TP.

(a) 20
3

cm (b) 10
3

cm (c) 40
3

cm (d) none of these

15. The lengths of tangents drawn from an external point to a circle are equal.
(a) half (b) one third (c) one fourth (d) equal
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MCQ WORKSHEET-II  
CIRCLES 

1. In below Fig, ABCD is a cyclic quadrilateral in which AC and BD are its diagonals. If DBC =
55° and BAC = 45°, find BCD.

(a) 80º (b) 60º (c) 90º (d) none of these

2. In above sided Fig, A,B and C are three points on a circle with centre O such that BOC = 30°
and AOB = 60°. If D is a point on the circle other than the arc ABC, find ADC.

(a) 45º (b) 60º (c) 90º (d) none of these

3. A chord of a circle is equal to the radius of the circle. Find the angle subtended by the chord at a
point on the minor arc

(a) 1500 (b) 30º (c) 60º (d) none of these

4. A chord of a circle is equal to the radius of the circle. Find the angle subtended by the chord at a
point on the major arc.

(a) 1500 (b) 30º (c) 60º (d) none of these

5. In the below Fig., ABC = 69°, ACB = 31°, find BDC.
(a) 80º (b) 60º (c) 90º (d) 1000

6. In the above sided Fig., A, B, C and D are four points on a circle. AC and BD intersect at a point
E such that BEC = 130° and ECD = 20°. Find BAC.

(a) 110º (b) 150º (c) 90º (d) 1000

7. ABCD is a cyclic quadrilateral whose diagonals intersect at a point E. If DBC = 70°, BAC is
30°, find BCD.

(a) 80º (b) 60º (c) 90º (d) 1000

DAILY PRACTICE PAPER

MATHEMATICS
10THCBSE

PERL EDUCATION

PERL EDUCATION - 1st Floor, Shrinath Complex, Sahakar Nagar Chowk, Aurangabad MH - 431001 
Contact: 0240-2950011, 8767256768



8. ABCD is a cyclic quadrilateral. If BCD = 100°, ABD is 30°, find ABD.
(a) 80º (b) 60º (c) 90º (d) 700

9. ABCD is a cyclic quadrilateral. If DBC= 80°, BAC is 40°, find BCD.
(a) 80º (b) 60º (c) 90º (d) 700

10. ABCD is a cyclic quadrilateral in which BC is parallel to AD, ADC = 1100 and BAC = 500.
Find DAC

(a) 80º (b) 60º (c) 90º (d) 1700 

11. In the below figure, POQ= 800, find PAQ
(a) 80º (b) 40º (c) 100º (d) none of these

12. In the above figure,  PQR = 100°, where P, Q and R are points on a circle with centre O. Find
OPR.

(a) 80º (b) 40º (c) 10º (d) none of these
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MCQ WORKSHEET-III  
CIRCLES 
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9. In the above figure,  PQR = 90°, where P, Q and R are points on a circle with centre O. Find
reflexPOR.

(a) 180º (b) 140º (c) 45º (d) none of these

10. In below Fig, ABCD is a cyclic quadrilateral in which AC and BD are its diagonals. If DBC =
60° and BAC = 30°, find BCD.

(a) 80º (b) 60º (c) 90º (d) none of these
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